Geometry BELL WORK

Determine the slope of the line that contains the given points.

1)  R(2,—6),S(—6,5) 2)  P(-3,-5),Q(-3, 1)
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Slopes of Lines

We used angle relationships in parallel lines to
determine congruent angles.

Today we will:
* Find slopes of lines.
* Use slope to identify parallel and
perpendicular lines

(G.CO.C.9 Congruence: Prove theorems about lines and angles)



Parallel and Perpendicular Lines

You can use the slopes of two lines to
determine whether the lines are parallel or perpendicular.

Lines with the same slope are parallel.

The slopes of perpendicular lines are....
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Determine whether AB and CD are parallel, perpendicular, or neither for A(1, 1),
B(—1, -5), C(3, 2), and D(6, 1). Graph each line to verify your answer. 17k
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In summary:

Parallel lines have TL\O . SOAME

slope.

Perpendicular lines have a {) %Oﬁ’i Ve

(0 C\ U()fOC 0\,\ slope.






Some postulates:

Slopes of Parallel Lines

Two lines have the same slope if they are parallel.
Two lines are parallel if they have the same slope.
All vertical lines are parallel.

Slopes of Perpendicular Lines

Two lines have negative regi_gr_(l(_:_f{l slopes 1f they are
perpendicular.

The product of perpendicular slopes is -1. 9 =27 /E
Vertical and horizontal lines are perpendicular. _5/ A 3



Determine whether AB and CD are parallel, perpendicular, or neither.

A(14, 13), B(—11, 0), C(=3, 7), D(—4, —5) ¢
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Determine whether AB and CD are parallel, perpendicular, or neither.

A(Br 6)1 B(—9, 2)/ C(51 4): D(zl 3)
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